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भाग क म� आठ लघ ुउ
तर� वाले

�
येक ��न के �लए पांच अकं �नधा !रत

होना चा$हए। 

Briefly discuss the following: (Que. 1 to Que. 8)

�न&न क' सं)ेप म� चचा  क'िजए % 

1. Present Monetary Policy of India

Hkkjr dh orZeku ekSfnzd uhfr 

2. Main Features of the Present Indian Taxation P

Hkkjr dh orZeku djkjksi.k uhfr dh izeq[k fo”ks’krk,a

3. Problems of Small Scale Industries.

लघु उ,योग� क' सम-याएँ

4. Achievements of the Last Five Decade of Economic P

Hkkjr esa foxr ikap n”kdksa esa vkfFkZd fu;kstu dh 

5. International Economic Environment.

अ/तरा 012य आ3थ क वातावरण

6. “More Employment is the Remedy to India’s P

^^Hkkjr dh nfjnzrk dk mik; vkf
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उ
तर� वाले ��न $दये गये है, इनम� से केवल चार ��न� 

�नधा !रत है, तथा �
येक ��न का उ
तर 250 श:द�

discuss the following: (Que. 1 to Que. 8) 

% (�0 1 से �0 8) 

olicy of India.  
Hkkjr dh orZeku ekSfnzd uhfr । 

of the Present Indian Taxation Policy.  

Hkkjr dh orZeku djkjksi.k uhfr dh izeq[k fo”ks’krk,a । 

Problems of Small Scale Industries. 

लघु उ,योग� क' सम-याएँ। 

Achievements of the Last Five Decade of Economic Planning in India. 

Hkkjr esa foxr ikap n”kdksa esa vkfFkZd fu;kstu dh उपलि�धयां |   

International Economic Environment. 

आ3थ क वातावरण । 

yment is the Remedy to India’s Poverty.”  

^^Hkkjr dh nfjnzrk dk mik; vkf/kd jkstxkj gSA^^ 
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श:द� से अ3धक नह2 

lanning in India.  
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7. Arguments in Favour and Against of Disinvestment of Public Sector 

Enterprises in India. 

Hkkjr esa yksd miØeksa ds fofuos”k ds i{k o foi{k esa rdZ |  

8. Importance of Foreign Trade to Developing Countries.  

fodkl”khy ns”kksa ds fy, fons”kh O;kikj dk egRo । 

Section ‘B’ contains 04 long answer-type questions of 10 marks each. Learners are 
required to answers 02 questions only. 

भाग ख म� चार द�घ� उ�तर� वाले ��न �दये गये है, इनम� से केवल दो ��न� के उ�तर देने है। ��येक 

��न के �लए दस अकं �नधा��रत है। 

1. Explain the main features of the present Industrial Policy of India. How far it 

will be helpful in the rapid industrial growth of the country?  

Hkkjr dh orZeku vkS|ksfxd uhfr dh izeq[k का वण�न क�िजएA ns”k ds rhoz 

vkS|ksfxd fodkl esa ;g dgkW rd lgk;d jgsxh \  
2. What do you mean by Industrial Sickness? Describe various factors which 

affect the industries. 

            औ�यो गक अ#व#थता से आप (या समझते ह+ ? उ�योग� को �भा-वत करन े वाले 

-व�भ.न घटक� का वण�न क1िजए।       

3. What is inflation? Explain the effects of inflation on employment, income, 

distribution and production.  

eqnzk LQhfr D;k gS \ jkstxkj] vk;] forj.k rFkk mRiknu ij eqnzk LQhfr ds izHkkoksa 
dh O;k[;k dhft,A 

4. Write the functions and objectives of world Trade Organization. Explain 

critically WTO agreement.  

fo”o O;kikj laxBu ds dk;Z ,oa mn~ns”; fyf[k,A WTO Lkaf/k dh vkykspukRed 
O;k[;k dhft,A 


